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Straight lines. Form A

1. What s the slope intercept form of 6x — 2y —4 = 07?

(A)y =6x —2
B)y=3x+2
C)y=3x—-2
(D)y=—-3x+2
(E)y = —6x—4

(A)y=§x+7
(B)y =7x
(Cy=3x
(D)y = —3x
(E)y=_?1x+7

Ay =>x+5
(B)y = —2x
(C)y=‘71x+13
(D)y = —5x
(E)y=2x+5

4. Forallpairs of realnumbers Sand Twhere S = 4T — 7, T =?
S

(A7 =7

(B)Z+7

(C)4S+7

5. What is the x-coordinate of the pointin the standard (x, y) coordinate plane at which the
two linesy = —2x + 7and y = 3x — 3 intersect?
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6. Forwhat value of n would the following system of equations have an infinite number of

solutions?
3a+b=12
12a + 4b = 3n

(A) 4

(B)9

(C)16

(D) 36

(E) 48

7.Inthe (x,y) coordinate plane, what is the y-intercept of the line —9x — 3y = 15?

9. Inthe standard (x, y) coordinate plane, what is the equation of the line that passes
through the origin and the point (3,4)?

1,43
W)y =-x+2

=1,_3
(B)y=7x—1
(C)y=3x

1,43
D)y = x+2

9

(B)y=.x
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10. In the standard (x,y) coordinate plane, what is the equation of the line that passes
through the origin and is parallelto theliney — 5x + 15 =0

(A)y = 5x
(B)y = —5x
(C)y=5x+15
(D)y = 3x
(B)y = >x

11. In the standard (x,y) coordinate plane, what is the equation of the line that passes
through (3,4) and is parallel to theliney = 2x + 27?

Ay =3x+2
B)y =2x—2
(C)y =2x+ 4
(D)y = 2x + 10
(E)y = 3x + 2

13. If a system of 2 linear equations in variables has NO solution, and 1 of the equations is
3y — 2x — 9 = 0, which of the following could be the equation of the other line?

Ay =2x +2

B)y =2x+9

(C)y=""x+2

D)y =2

(E)y = Zx +2

14. In the standard (x,y) coordinate plane, whatis the distance between the line x = -2

and the y-axis?
(A) -2
(B)vV2
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15. In the standard (x,y) coordinate plane, what is the distance between the line y = 8 and
the x-axis?

of b?

17. The graph of the line with equation —2x — 3y = —15 does NOT have points in what
quadrant(s) of the standard (x,y) coordinate plane below?

y -

II I

L

I IV

(A) QuadrantIonly
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(B) QuadrantIT only

(C) Quadrant Il only

(D) Quadrant IV only

(E) QuadrantIland IV only

18. Which of the following is an equation of the line that passes through the point (—4,5)
and (—8,—15) in the standard (x, y) coordinate plane?

19. Alinein the standard (x,y) coordinate plane has a slope of % and passes through the
points (3,4) and (t, —2).What s the value of t?

Z
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E
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P
~

-2
-6

~

20. Alinein the standard (x,y)coordinate plane is parallel to the x-axis and five units below
it. Which of the following is an equation of this line?

(A)y =-=5
(Byx =-=5
(C)y = —5x
D)y=x-5
(E)x=y—=5

21. When graphed in the standard (x,y) coordinate plane, thelinesx = —5andy =x —5
intersect at what point?

(A) (=5,-10)
(B) (=5,—5)
(C) (=5,0)
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(E) (0,0)

22.Which one of the following lines has the smallest slope?

23.Giventhaty — 5 = %x + 1is the equation of a line, at what point does the line cross the

X-axis?

22
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24.The graph below shows how the variable y varies with x in the standard
(x, y)coordinate plane. What statement is true about how y varies with x?
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(0,10)

K‘F

0 (10,0)

(A) Starts at y = 0, decreases, remains steady, increases, decreases

(B) Starts at a maximum point, decreases, remains steady, increases, decreases

(C) Starts at a minimum point, increases, decreases, remains steady, increases.

(D) Starts at y = 0, decreases, reaches its lowest value, increases, decreases

(E) Starts at a maximum point, decreases, reaches its lowest value, increases, decreases

Answers

11.B 21.A
12.C 22.E
13.A 23.B
14.C 24.B
15.A
16. A
17.C
18.A
19. E
20.A
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